ey Bty |

0 Hft s

4. B X FIY BB SRR f(x, ) = {

() E(X) K Var(X) (2) P(%<X<%|Y:—Z~) G)P2X >Y) -
(12%)

e o Dy
5. Let the joint pdf of X and ¥ be f(x,y):{g x<ow, 0<y<w

otherwise

(a) Find the pdfof Z=X+Y .
(b) Find the joint pdfof U =X+2Y and V=X (35 Hu #v a4 [7)
(14%)
6.Let X and Y be discrete random variables with joint pmf
{(x+y) =k 7 Zandy—1 .2
px, )=
otherwise
(a) Find the value c.
(b) Find E(X) and Var(X).
(c) Find E[(1-X)*].
(d) Find Var(3-2X).
(e) Calculate P(X +Y >3).

RATH A& ABELYE @y Asa B MG k2 RE )
Tkt 5 K

(10%)
L & X R [0,1] 4 19 19 & (uniform) 53 B - H £, (v|x) :(:I}JX"'(1~x)""" ,
y=0F2 .. ..n: KRBT
(10%)
2. B~ Z NS F]— E AR R Haph R4 HIES 0.6 #10.5 » IHEA]
EEEan e > KA S 2 B
(15%)
3. B R RAAR AL RNRE - BREEREGEY - A8 - 55k (a)
gL (0) F— L IAARIMRE p - IAERIBEERE - p - BElEE X %
JNEE n 2D FTAERYMEAE - [ (1) FEE R B Y = 2 AR BLERART? (2) ftisE T
B HTHRE N E (BAE) A2 (3) % p = 0.6 foET 10 & > HEELELAT L
> B[-2,2] » ROBEREMA?

f" , (]5%)



e
101 2 # F AL AEANSEFT KA A K
sl RAGSHE AR @Al e A8 D RERG

st H Ak

(9%)

7. Men arrive at a service counter according to a Poisson at an average of 6 per hour;

women arrive at a service counter according to a Poisson at an average of 12 per hour;

children arrive at a service counter according to a Poisson at an average of 12 per
hour.

(a) What is the probability that at most 3 women arrive at a service counter during the
next hour? (F — 18- 659 > & % 3 B AR & 69Kk %)

(b) What is the probability that no men arrive at a service counter during the next 2
hours? (F —1&/1N85 A > A 5 ABIARFS & 69k %)

(c) What is the probability that at least 2 customers (without regard to sex or age)
arrive at a service counter in a 5-min period? (f£ A 548 BARI 9> £V 2 BAE K 3
Hs & R E)

(15%)

8. Suppose X is a random variable with density function

0 ,x <0
f(x):{ and P(X <1)=P(X >1).

Be ™ x>0

(a) Find the value of 4.

(b) What is £(X)?

(c) Find E(X?).

(d) Find E(e").

(e) Find the hazard rate function A(?).
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